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1 k"jf{wf/ ljsf; 
lkKn], cd]v|]gL, yfgs'g], kfl^e~ofË, ysgL u|fld)f 
;*s dd{t-u|fj]n_ 1400000.— 

2 k"jf{wf/ ljsf; cxfn^f]n, r)*]Zj/L df]= jf= lgdf{)f 250000.— 

3 k"jf{wf/ ljsf; r)*]Zj/L d+lGb/ lgdf{)f 150000.— 

4 k"jf{wf/ ljsf; 
a;'/L l;/fg,lyª^f]n,Jnf]g^f]n,k'%f/^f]n ;*s 
lgdf{)f 300000.— 

5 k"jf{wf/ ljsf; /fDrfË, Ro'lgª, &'nf]kw]/L ;*s lgdf{)f 300000.— 

6 k"jf{wf/ ljsf; yfgs'g] ;fd'bflos ejg lgdf{)f 300000.— 

7 k"jf{wf/ ljsf; kfl^e~ofË, km]bL ;'?Ë ;*s lgdf{)f 300000.— 

8 k"jf{wf/ ljsf; lr;fkfgL, afub]jL, afF;vs{, w'n]Zj/L df]=jf= lgdf{)f 400000.— 

9 k"jf{wf/ ljsf; 
b]p/fnL cfo'j]{b cf}ifwfno >L s[i)f df=lj=— 
l#ld/]^f]n df]=jf= lgdf{)f 200000.— 

10 k"jf{wf/ ljsf; u)fvf]nf, ;f&LkmFf^ l;+rfO{ s"nf] dd{t 100000.— 

11 k"jf{wf/ ljsf; sfln;]tL b]jL d+lGb/ lgdf{)f 150000.— 

12 k"jf{wf/ ljsf; yfgs'g] —;f]t], l*lx df]=jf= lgdf{)f 900000.— 

d]nDrL gu/kfnLsf 

gu/ sfo{kflnsfsf] sfof{no 

d]nDrL, l;Gw'kfNrf]s 

of]hgf tyf sfo{s|dsf] ljj/0f 
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13 
;fdflhs 
ljsf; wf}n]u'Daf #*]/L lgdf{)f 100000.— 

14 
;fdflhs 
ljsf; Rofªsnrf}/ v]n d}bfg lgdf{)f 300000.— 

15 
;fdflhs 
ljsf; af;'sL vfg]kfgL wf/f lgdf{)f 200000.— 

16 
;fdflhs 
ljsf; :jf:Yo ejg sDkfp)* lgdf{)f 160000.— 

                       hDdf ?= 5510000.— 
 


